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LABOUR LAW – I 

Time : 
2
12  hours                Maximum : 70 marks 

PART A — (2 × 12 = 24 marks) 

Answer TWO of the following in about 500 words each. 

500 

 

1. Who is responsible for payment of wages? What are the deductions permitted 

under the Payment of Wages Act, 1936? 

2. State in what ways minimum rates of wages are fixed and revised under the 

Minimum Wages Act, 1948? 

1948

3. What is public utility service? What are the restrictions on strike in a public 

utility service? 

PART B — (2 × 7 = 14 marks) 

Answer TWO of the following in about 300 words each. 

300 

 

4. Explain the scope of jurisdiction of the Labour court under the Industrial 

Disputes Act 1947. Refer to cases. 

1947
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5. Explain the procedure for amalgamation and dissociation of Trade Unions. 

6. ―The registered trade union is permitted to two kinds of funds for 

accomplishing its objectives under the Trade Union Act 1926‖. Explain. 

1926

PART C — (5 × 4 = 20 marks) 

7. Write short notes on FIVE of the following : 

 

 (a) Evolution of concept of master and servant relationship. 

 (b) Claims under the Minimum Wages Act, 1948. 

1948

 (c) Industrial establishment under Payment of Wages Act, 1936. 

1936

 (d) Standing orders. 

 (e) Retrenchment and Lay-off. 

 (f) International Labour Organisation. 

 (g) Board of Conciliation. 

PART D — (2 × 6 = 12 marks) 

Answer TWO of the following by referring to relevant provisions of law and  

decided cases. Give cogent reasons. 

8. A workman who is laid-off by his employer in his establishment at Trichy 

refuses to accept an alternative employment in another establishment 

belonging to the same employer but in Dindigul. Can the workman claim laid-

off compensation? 
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9. A workman in an industry was terminated from service by the Management on 

the ground of his inability to work due to continued ill-health. The concerned 

workman demanded retrenchment compensation from the management. 

Decide. 

10. In a factory employing 999 persons, the wage period has been fixed as one 

week. An employee in the said factory has not been paid his wages for the 

week ending 7th March till 12th March. Is there any delay in the payment of 

wages? Explain. 

999 

12

—————— 


